Applied Information and Communication Technology 
Unit 3: The Knowledge Worker
Comprehension: Tour De Tursenol
1. What is the main crop that is being talked about?
The main crop being talked about is the Sunflower.
2. What period do the flowers grow over and die?
They usually grow over the summer and in August they start to die.
3. How are the crops harvested?
A farmer brings in machinery which cuts off the heads of the sunflowers and filters out the seeds. 
4. What in your opinion is the sad sight to see? Fields of dead sunflowers with their heads bowed waiting for decapitation.,
5. What is Tour de Tursenol? And how many towns are involved in the competition? A cycle race that marks thiss period, nine towns in the area are involved, 
6. What is the significance of “Golden Sun Flower “flag? It is a matter of civic pride. 
7. Where does the race take place? South of France.
8. What is the criterion for winning the race? To have the shortest time taken to compete in the race
9. What are the three other events within the competition?
The overall champion, the team race and the king of mountains
10. Summarise paragraphs 4, 5  and 6
11. What are the requirements for the stages?
For stage one, each rider is given an individual time for each stage, this is recorded by stoppers 
The next stage works on aggregate times. Each team has five riders. At the end of each stage the team gets a stage team time. 
Two of the stages of the event have to be climb stages.  A climb stage is defined having either two category 1 climbs or a category 1 climb and a category 2 climb. 
12. Explain the yellow jersey, Golden sunflower, Polka Dot Jersey and the green Jersey
Yellow jersey- for the overall champion
Golden sunflower- for the team race
King of the mountains- polka dot jersey 

13. [bookmark: _GoBack]Who are the spotters and what do they do? Spotters are placed at six of the check points to record the first ten riders go past.
14. Who is Serge Dulac?
The man who designed the rouet for Tour de Tourensol
15. In your own words summarise the current situation in the scenario and identify what needs to be done. ( bearing in mind the description of the model, in not less than 2 paragraphs) 
